TXO ProbucTiON CORP.
900 WILCO BUILDING
MIDLAND. TEXAS 79701
915/682-7992

Re-entry & Directional Drilling Procedure
for the Humble State "C" #1

10.

11.

MI & RU drilling rig.

Drill sarface plug & 35 sx cement plugs @ 2200'-2300' & 4300'-4400' w/7 7/8"
bit & 6l/4x30' non-magnetic DC & 6'"-6l/p" steel DCs.

NOTE: :ould be 3615' of tbg beneath intermediate csg which may need to be
fished.

TIH to >lug @ 6226'. Use bicarb & thinner as needed. Dress-off cmt plug.

Run a mignetic multishot directional svy on the bit trip out of hole, to
pick up deflection tools, up to the 8 5/8" csg depth of 4496'.

After TOH, run a gyroscopic multishot svy on wireline inside csg from
0-4496'. The two svys will be merged to provide a precise bottom hole loca-
tion @ 3226+ (kick off point).

Pickup a 7 7/8" insert rock bit, 51/2" downhole mud motor, 11/2° bent sub,
61/4"x30' non-mag DC and the rest of the steel DCs and DP. Orientation of the
deflect:ing assembly will require the use of a steering tool.

Approxinately 100' of hole will be drilled with the deflection assembly or

until satisfactory trajectory is obtained. TOH for an angle building bottom
hole asuembly.

TIH w/7 7/8" inmsert bit, 7 7/8" integral blade stabilizer, 61/4""x30' non-mag
DC, 30' steel DC, 7 7/8" string roller reamer & drill to approximately
10,400 ad justing WOB and rotary speed to achieve a build up rate of 1.5°

‘per 100 of measured depth up to the angle of 8.5°. TOH for a semi-packed

hole assembly. Mud up well @ 9100'.

TIH w/7 7/8" insert bit, 7 7/8" integral blade stabilizer, 8' steel DC, 7
7/8" integral blade stabilizer, 61/4"x30' non-mag DC, 7 7/8" string roller
reamer, 30' steel DC & a 7 7/8" string roller reamer. Drill with this
assembly to proposed TD, or until a corrective deflection tool run is
requirec, as determined from singleshot svys.

At TD (12,200') a multishot svy should be run inside DP to fulfill state
requirenents.

Run & cement %1/2" csg according to prognosis.

TXO PRODUCTION CORP.
Case Nos. 9382 and 9383
6/08/88 Examiner Hearing

Exhibit No. 9



HISTTaY

HumzlE STATE 'C* #1

Na‘a 2F SE/A SEC 36 115 RITE
L0 TS ANl 1690 HEL

_IA CCUNTY  WEW SEXT'O

ORICInNAL OPER: RALPH LONE

RE-INTERED EYi CRC4h CENTRAL PETRS. COAF.
XAw 4,20 056 TG 9980 12/6/77
PERF AND TESTED WOLF(ANP 9237 70 9892

SKELTGN OIL €O, PRA’] WELL 1/22/73

TR ISE A N A TS 10 i
SET 8 3707 U 'L W/ 425 Sx J T

v <€ oy o
5/8' €36 4C 1 36% 12,50 WlE )

ape e - 19 5454 v H~- -

SET 2 4496 OH D W/ 2100 5% el T35 3% Fuib

875 HUE ——

e AT c
& N
O
= L2206

ToC P €Lie {voms Les®

1

UHam:—————_~__ﬁ§>
307 C3C R ATTEMPT TL FUL 3 3t —— (/” .

CIzt @ 9000

CIK & 73007
CIRF @ 570’

WDLFCARE STRFS
(9337 - =521

CIBF @ 9653
CIBF @ 98007
CIRF 7 95T

4.5 56 SHOE G 793¢
CMT W7 412 5X -

FUTILERERTY B rvees
++ el

b

- - =

i TXO PRODUCTION CORP.
ey Case Nos. 9382 and 9383

S T i e 6/08/88 Examiner Hearing

Exhibit No. 10



H

TRoPosSED WeL BorE
Humble Staie Ne e |

2 l I !
2% csq ! |
. it
L4 ' 1
1% €sq ————py | i1
i Ny
o .
o i
b |
i ]
] i
%" hele — B
| .
! L
] |
gaxe’ b \
2
7 \
{ I [S \-\
R \
. \
i & b
',{; -
i = 1
1
Ly P
! a A !
| s 1§
(276 & & 4
i
f“\<:ZE’
| 1
! !
VAR
4% es¢ | |
-
f i
[ i
\ |
;}\‘;\:\\ o
e ju}e, ! [ /\}
L oS
CTEP @ 000’ W Y '
[ i
| e iy
wo'seor g peclz 22372000 3 oo T
wo e R | g g ,_E—,
e’ =S A
| i
\\ |
T
j9anN ey

SKETCH

\*‘ qh £sq

TXO0 PRODUCTION CORP.
Case Nos. 9382 and 9383
6/08/88 Examiner Hearing

Exhibit No. 11

\\ \
TIw12a00’ 2 ~




TXO ProbucTiON CORP.
900 WILCO BUILDING
MIDLAND. TEXAS 79701
915/682-7992

Direction D:illing Procedure
#1 Heyco "3u" State

1650 FNL & 190 FEL

Sec 36, T-1.-S, R-37-E

1. MI & RU rotary tools.

2. Freepoint, cut & pull 51/2" csg @ approximately 5600' based on calculated TOC
@ 5625' Plug well according to state requirements up to point where casing
will be pulled.

3. Set 200 sx cement plug on top of 512" csg stub @ approximately 5600'.

4. Dress-off top of plug to a hard spot w/a 7 7/8" bit, 1-61/4"x30' non-magnetic
DC & 6-61/2" steel-DCs.

5. Run a megnetic multishot directional survey on the bit trip out of hole from
plug to 4520'.

6. Run gyrcscopic multishot survey on wireline inside csg from 0-4520'.

7. TIH w/5)/2" high speed motor w/7 7/8" diamond bit on a 11/2° bent sub. Orient
with steering tool towards proposed bottom hole location.

8. Time drill for 8-10 hours at 1 foot/hour to create bit pattern.

9. Approxinately 100' of hole will be drilled with the deflection assembly or

until setisfactory trajectory is obtained. TOH for an angle building bottom
hole assembly.

10. TIH w/7 7/8" insert bit, 7 7/8" integral blade stabilizer, 61/4"x30' non-mag
DC, 30' steel DC, 7 7/8" string roller reamer & drill to approximately
10,400' ad justing WOB and rotary speed to achieve a build up rate of 1.5°
per 100' of measured depth up to the angle of approximately 6°. TOH for a
semi-packed hole assembly.

11. TIH w/7 7/8" insert bit, 7 7/8" integral blade stabilizer, 8' steel DC, 7
7/8" integral blade stabilizer, 61/4"x30' non-mag DC, 7 7/8" string roller
reamer, 30' steel DC & a 7 7/8" string roller reamer. Drill with this
assembly to proposed TD, or until a corractive deflection tool run is
required, as determined from singleshot svys.

12. At TD a multishot svy should be run inside DP to fulfill state
requirements.

c TXO PRODUCTION CORP,
ase Nos. 9382 and 9383
6/08/88 Examiner Hearing
Exhibit No. 12



i)

T T — - —

iz L Z

N

N

N

N

N A

AN

N

N

N

NF N

1& i I
AN

NN

P |

» b

KN p
f\:—pv‘rool.@ 9221

Toc ,éi;tnﬁﬁ 9ced

TXO PRODUCTION CORP.

Case Nos. 9382 and 9383
6/08/88 Examiner Hearing
Exhibit No., 1



~aTIONaL

(aoposer WewBore SKeTen
*{ Heyeo "3¢” State

n ¥ ”csa J L

8’}72’" 653

est  Toc @ s5¢25

5%‘—‘ ;23

4
Teyortins 2320 =165

12 sS04




